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Ĥ
ψ
(r

)
=

−
ℏ
2

2
m

1 r
∂
2

∂
r
2
(r
ψ
(r

))
+

1
2
m
r
2
L̂

2
ψ
(r

)
+

V
(r

)ψ
(r

)
=
E
ψ
(r

)

·
Si

on
dé

fin
it
H

=
p
2 r

2
m

+
L

2

2
m
r
2
+
V
(r

),
al

or
s

p̂
r
=

−
iℏ

1 r
∂ ∂
r
r
=

−
iℏ

( ∂ ∂r
+

1 r

)
·
[L̂
i
,
L̂
j
]
=
iℏ
ϵi
j
k
L̂
k

⇒
L

∧
L

=
iℏ

L

·
va

le
ur

s
pr

op
re

s
de

L̂
2

:ℏ
2
L
(L

+
1
),
L

=
0
,
1
/
2
,
1
,
3
/
2
,
..
.

·
va

le
ur

s
pr

op
re

s
de
L̂
z

:ℏ
M

,M
=

−
L
,
−
L

+
1
,
..
.,
L

R
ap

pe
l1

er
se

m
es

tr
e

Fo
rm

ul
es

tr
ig

on
om

ét
ri

qu
es

·
c
o
s(
α

±
β
)
=

c
o
s
α
c
o
s
β
∓

si
n
α
si
n
β

·
si
n
(α

±
β
)
=

si
n
α
c
o
s
β
±

si
n
β
c
o
s
α

·
ta

n
(α

±
β
)
=

t
a
n
α
±

t
a
n
β

1
∓

t
a
n
α

t
a
n
β

·
si
n
(2
α
)
=

2
si
n
α
c
o
s
α

·
c
o
s(
2
α
)
=

c
o
s2
α
−

si
n
2
α

=
1
−

2
si
n
2
α

=
2
c
o
s2
α
−

1

·
1
+

c
o
s
α

2
=

c
o
s2

(α
/
2
)

;
1
−

c
o
s
α

2
=

si
n
2
(α
/
2
)

·
c
o
s
α
c
o
s
β

=
1
/
2
(c
o
s(
α

+
β
)
+

c
o
s(
α

−
β
))

·
c
o
s
α
si
n
β

=
1
/
2
(s
in
(α

+
β
)
−

si
n
(α

−
β
))

·
si
n
α
si
n
β

=
1
/
2
(c
o
s(
α

−
β
)
−

c
o
s(
α

+
β
))

Fo
rm

ul
es

d’
E

ul
er

+
N

om
br

es
co

m
pl

ex
es

·
c
o
s(
x
)
=

e
i
x
+
e
−
i
x

2
si
n
(x

)
=

e
i
x
−
e
−
i
x

2
i

·
c
o
sh

(x
)
=

e
x
+
e
−
x

2
si
n
h
(x

)
=

e
x
−
e
−
x

2

·
e
i
(
π
+

2
k
π
)
=

−
1

e
i
·2
k
π

=
1
k
∈

Z
·
e
i
(
π 2

+
2
k
π
)
=
i
e
i
(
−
π 2

+
2
k
π
)
=

−
i
k
∈

Z
·
√
i
=

1
+
i

√
2

1 i
=

−
i

In
té

gr
al

es
/D

ér
iv

ée
sd

e
fo

nc
tio

ns
tr

ig
on

om
ét

ri
qu

es

·
∫ si

n
2
(a
x
)d
x
=

x 2
−

s
in

(
2
a
x
)

4
a

·
∫ c

o
s2

(a
x
)d
x
=

x 2
+

s
in

(
2
a
x
)

4
a

·
d d
x
ta

n
h
(x

)
=

1
c
o
s
h
2
(
x
)
=

se
ch

2
(x

)
(v

al
ab

le
po

ur
ta

n
)

O
pé

ra
te

ur
sd

e
cr

éa
tio

n
et

d’
an

ni
hi

la
tio

n

·
an

ni
hi

la
tio

n
:â
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Ĥ

=
ℏω

(â
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Ĥ

0
+
V̂
(t
)

·
A

u
pr

em
ie

ro
rd

re
,o

n
a

:

·
Û
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